Attack and Defense |

Attacking arguments involves several selection choices. Which
arguments to attack? Not every argument requires attack.
Attacking every argument can involve one in tenuous situations
or create internal inconsistencies. Arguments not attacked may
be either ignored or

granted.



Pa3BnTue aprymeHTaTuBHOW
cuTyauum

 [locre npeseHTauun aprymeHTa u yctaHOBIIEHUS €r0
ageKkBaTHOCTU NMPOTUBHUK 00s13aH NMOO ero (a) NPUHSATD,
nnobo (6) oTBEpPrHyThL, NMNOO, (B) atakysi, OMPOBEPIrHYThb.

« OnpoBepxeHne — 3To, Mo CyTU, BCTPeYHas
aprymeHTtauus, atakytowas UCXo4HbIW apryMeHT; npu
9TOM 00€ CTOPOHbI CTPEMATCA HANTU NMPaBUSTbHOE
peLLeHmne CrnopHOro Bornpoca, a He nodbeanTb NPOTUBHUKA.

* B paunoHanbHOM AUCKYyCCUK 3alUuTa 1 aTaka —
KOHCTPYKTUBHbIE MPoLecChl, T.e. KOMMYHUKAHTLI
oboralwiaroTcd 3HaHUAMU Opyr apyra



ATaka aprymMmeHTa

« BapuaHTbl BbIOOpa anga aTaku:

* (a) Kakne UMeHHO aprymMeHTbl aTakoBaTh;
NI

* (6) Kakylo YacTb apryMmeHTa aTtakoBaTb:
1. Te3unc aprymeHTa (OTBEPrHyTb €r0 UMK AaTb KOHTPAPryMEHT);
2. JloBoabl aprymeHTa;
3. Cnocob goka3biBaHUS;
4. YMECTHOCTb aprymeHTa B JaHHOW cuTyaumm

« BbIbop genaetca No npuHUUNY mini-max: YTO AacT
MaKCUMarnbHbIU pe3ynbsraTt Npyu MUHUMYMe 3aTpar
(=ycunun)



ATaka aprymeHTa
BapVIaHTbI Bbl60pa TAKTUKU OJ1A dTadKWU:

*YCTaHOoBEHNE BHYTPEHHUX HEOOYETOB B apryMeHTe — NoKasbiBaeM, YTo
NPOTUBHUK HE cobntogaeT 0b6s13aHHOCTN BpeMeHn AoKa3blBaHUS;

*YCTaHOBEHNE NPOTUBOPEYUI B apryMeHTE — NOKa3blBaeM, YTO
NPOTUBHMK HEUCKPEHEH N TpebyeM yCTpaHEHUS MPOTUBOPEYNN;

*PaclundpoBka cTpatermm apryMmeHTaunm onrnoHeHTa — MOXeM
YCTaHOBUTb

nornyeckue owmnbkn mMnu YTo NPOTUBHMK HE cobnogaeT Lenu

KPUTUYECKOIrO pPaccyXaeHNs U CTPEMMNEHNSA K AOCTUXKEHUIO
B3aMMOMNPUEMIIEMOTO PeLLEHNS;

*/Icnonb3oBaHMe KOHTP-apryMeHTaumnm — oTpuLiaemM BblaBUHYThIN Teauc,
[aeM KOHTp-Te3unc 1 3actaBrnsiemM NPoTUBHMKA AenaTb
aprymeHTMpOBaHHbI BbIOOP MeXay HUMU;

*[TomelLieHne aprymeHTa B MHOW (0ObIYHO — Bonee LUMPOKMIA) KOHTEKCT, B
KOTOPOM OH BbIMMAANT HEYA0BNETBOPUTENBbHbLIM



ATaka aprymeHTa
BapunaHTbl BbIOOpa TaKTUKU ONSA aTaku

Let us illustrate these selection choices.

There was much substantive argument in the Kennedy-Nixon 1960 debates, as in
the following example about the size of the federal budget.

Nixon’s argument, as presented by the panelist, was that the cost of Kennedy’s
program would exceed that of his own by $10 billion dollars a year. Kennedy
makes several choices about how to attack this argument.

He recontextualizes it as an argument about whether the budget is in balance.

He provides counterarguments showing examples where his budget will cost less
than Nixon’s.

He acknowledges that he will spend more on education and defense, implying
that these increases are desirable.

He accuses Nixon of misstating his figures in reaching the conclusion that his
budget will cost S10 billion more than Nixon’s.

These choices reflect Kennedy’s application of the mini-max principle. In turn, we
can consider whether he made the best strategic choices.



